Dr. Mangesh

MBBS, MD.



OPD Prescription

UHID No.

: 3996

OPD No.

: 2568

Patient Name : Komal Kumari

Date

: 25/12/2025

Address

: Bishunpur Giddha, Muzaffarpur.

Age / Sex

: 07 days/ F

B.P.

Pulse:

Temp:

Weight

Satyam Super Speciality Hospital

Unit of Satyam Medical Care Pvt. Ltd.

Maripur (Opp. Satyam Paramedical College & Research) Muzaffarpur-842001, Bihar

Mab.:

Attn: A Giggles Welfare Organization

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 3996

OPD NO. 2568

DATE:- 25/12/2025

PROFORMA INVOICE/FUND REQUISITION REPORT

Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)

Maripur, Muzaffarpur, - 842001, Bihar

Patient Name:	Komal Kumari		
Sex:	Female		
Father's Name:	Pankaj Kumar		
Address:	Bishunpur Giddha, Muzaffarpur.		
Diagnosis:	Chronic lung disease, Specifically bronchopulmonary dysplasia with associated		
	infections affecting the lungs.		
Date of Admission:	25 th /Dec/2025		

Overall Analysis: - Komal Kumari, was brought to the hospital in around afternoon hours of 25th Dec. 2025 in a critical condition by her parents. The condition of the kid is critical. Patient has suffering from Chronic lung disease (bronchopulmonary dysplasia), resulting in severe respiratory distress and recurrent infections. This condition limits the body's ability to respond to stress and poses a serious risk to life. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required. The patient comes from a financially weaker section, Kid's father is a Farmer and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,40,060/- For almost 17 days of treatment.

Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

1 NICU 17 3000.00 5100 2 Nursing 17 800.00 1360 3 Visit 17 1000.00 1700 4 Procedure 1 5000.00 5000 5 Medicine 17 880.00 1496 6 RBS 17 100.00 1700 7 Oxygen 298 100.00 2980 8 Warmer 14 500.00 7000	S.No.	Element	Unit	Rate (INR)	Price (INR)
2 Nursing 17 800.00 1360 3 Visit 17 1000.00 1700 4 Procedure 1 5000.00 5000 5 Medicine 17 880.00 1496 6 RBS 17 100.00 1700 7 Oxygen 298 100.00 2980 8 Warmer 14 500.00 7000	1		17	3000.00	51000.00
3 Visit 17 1000.00 1700 4 Procedure 1 5000.00 5000 5 Medicine 17 880.00 1496 6 RBS 17 100.00 1700 7 Oxygen 298 100.00 2980 8 Warmer 14 500.00 7000	2		17	800.00	13600.00
4 Procedure 1 5000.00 5000 5 Medicine 17 880.00 1496 6 RBS 17 100.00 1700 7 Oxygen 298 100.00 2980 8 Warmer 14 500.00 7000			17	1000.00	17000.00
6 RBS 17 100.00 1700 7 Oxygen 298 100.00 2980 8 Warmer 14 500.00 7000	4		1	5000.00	5000.00
6 RBS 17 100.00 1700 7 Oxygen 298 100.00 2980 8 Warmer 14 500.00 7000	5	Medicine	17	880.00	14960.00
7 Oxygen 298 100.00 2980 8 Warmer 14 500.00 7000	6		17	100.00	1700.00
8 Warmer 14 500.00 7000	7	Oxygen	298	100.00	29800.00
	8		14	500.00	7000.00
					1,40,060.00

July 25/12/2025

भीवा में ए िएल्स वेलपेगर् आठीमाइजेशन, महात्राम्य नम् निनेहन है की मेरी जेरी चीमल कुमारी जी की अभी मात्र वम बीन की ही ही, जो जो और बीमारी में अझ रही है, जी की इसमा जनमजात है। डांक्टर का नहा है की असका अन्म समय मी पहले तीने हे भारता बराके प्रेयड़ा मे विकास है जिस्से साम दीन हैं पड़ेकाती भाग ही इंप्रेमसन की भी रामरूका है। डॉस्टर् का कहना ही की बक्षका जलाज भटद में अल्द शुक्त करना ही जा वही ते इसका वाना पुरिकाल है। डॉक्टर का कहना है की इसका अिंग्ट इलाज हेतु 1,40,0601- वनपत्र नीरमर्थ आखी और लगका ।त कीन तक का मार्च लर्जा। अल्बेर गरीबी भी अझ रहे परिनार ने लिए अह बहुत ही बरा स्वम है, में किसान हूं और मेरी पत्नी आपने धार का देख जाल करती है। अतः श्रीमानं से मेरा मम निनेदन है की मेरी आसी है एवं दीनम स्मिती मी देखते हुए मेरा आवीद मदद परने का कुपा अहर के इसारे लिए में अमिन बा मदा आजारी असमा विववासी

